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7. A man bought fror a merchant what
he supposed was $2.50 worth of tea, but by
the usc or false &cales he wa cheated I.5
cents. Find the truc weight of the mer.
chant's "pound " wcight. Ans. 15 07.

8. A merchant bought a bankrupt stock
at 62à cents on $i. On half the sto.k lie
realizcd ro per cent. less than the original
price, and on the remainder he reAlizcd 40
per cent. lcss. Find his gain per cent.

Ans. So per cent.

9. How many lots, each containing 1 of
an acre, can be made from a picce of pro-
perty 44 chainS square ? Anse. r i.

ro. 'A man has a square field containing
2j acres. How many furrows, each 9 in.
wide, must he plougli across i; to turn up an
acre? Ans. r76.
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ARITHMETIC.

Time-Two bouts and a hall.

i. Define factor, highest common factor,
least common multiple, per cent., discount,
decimal, decimal fraction. [7.]

2. Simplify:

1og -71x 83 12i .
(a) 9 - x + 3 " + r80.12?, - 9 « 19/ 16T . "

P'5.1
(b) 7, -8A - 124 + 71

-(5H -63-71 +1o)+15 r. [15.]

3. A merchant bought a quantity of cloth
at 3 yards for i shilling, and T, as much at
5 yards for 2 shillings; and sold the whole
at i5 yards for 7 shillings. How many yards
at this rate must he sell to clear $1.12?
(20 cents to the shilling). [i5-.

4. A and B can do a piece of work in 20
days; B and C can do the same work in
25 days, and A and C in 30 days. If A and
B work 5 days, and C 20 days, how long
will it take B to finish it ? [14.]

5. A speculator loses j of his money and

then gnins $14 i he then loses i of wh; hç

now han, and gains $8, when ha retires a
he bcgan. What amount had he at first?

[:2.)

6. A merchant has tca worth 30, 40, 80
and S3) cents per lb. respectivcly ; he wishes
to make a mixture amount:ing Io 8U lbR. co

as to sell At 70 cents per lb., and gain 20 per
cent. on the whole. How much of cach
kind must he use ? [:5-)

7. A broker invcstcd a certain sum of
moncy in railway stock at 88 and paying 6
per cent. dividcnd, and four times as much
bank stock at 80, and payine 5 per cent.
dividend ; his income from both invcstments
was $1.400. lIlow much did lie invcst in
cach kind of stock? [:5.]

8. The amount cf two notes is $4oo; they
are drawn for one year; the one is discounted
at a bank, and the other at truc discount.
The sum of both discounts is $38. Money
being wortl. ro per cent. what is the face of
the note discounted at bank discount ? (r5.i

9. How far may a Loat, whose velocity is
8 miles an hour in still water, go up a
stream whosc rate is 4 mile: an hour. ro
that the round trip (gcing and returning)
may take only cight hours? [12.)

ro. Two vessels, one in the form of a cube,
and the other in the form of a cylinder, to.
gether hold 7111 gallons of water. The
diameter of the cylinder is :6 inches, and
the depth of side 30 inches. If a gallon of
water weighs îo lbs., and a cubic foot 1,ooo
ounces, find the dimensions of the cube.
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SEVENTH GRADE-DRAWING.

r. Draw two horizontal parallel lines
entirely across the paper', and five inches
apart. From the lower to the upper draw
eight oblique parallel lines one-half inch
apart. (Credits o to 15.)

This is to be done by the class simultane.
ously; the teacher counting one, two, three,
four, five, etc., for the lines in succession
with a sufficient pause between. But ont
trial tq be allowed, and no erasures.

1g6


